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VIl TPEYTO/IBHIKA
Yron BAC npu 1 sepune A:
8 panviarax = 1.03829222849305
B rpaaycax = 59.4897625938845
Yron ABC npu 2 sepume B:
8 panviarax = 0.390607043697687
& rpanycax = 22.3801350519596
Yron BCA npu 3 Bepumte C:
8 panviarax = 1.71269338139906
8 rpanycax = 98.130102354156

LEHTP TSKECTH
KoopauHaTe! Om(3.66666666666667; -2.33333333333333)

ME[IMAHbI TPEYTO/TbHIKA

Meaviara AM1 U3 BepluMbl A: 3

KoopayHaTsi M1(4; -5)
DnuHa A1 = 8.06225774829855

BBICOTH TPEVTO/IBHHKA

BbiCOTa AH1 13 BepuMHSI A
KoopavHaTsi H1(-0.500000000000001; -0.500000000000001)
NnuHa AH1 = 4.94974746830583
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